RS, (FE). ARS. BEEIENDBHOELIEI0,

COS1-W|/CCS1-W|COS1-V CCS1-V COSTH-W CCSTH-W COS1H-V | CCSTH-V
5% 6m 5% 6a 5% 6o =% 0m
1.0MPa CACH SCS&!| 1.0MPa CACH! SCS&H!
O £ (&)
g ' =
m7K QEE/EZKJ

BR:COS-18  EH:CCS-1E Bi:COS-18 B :CCS-1E

()

A,

B :COS-1HE! &7 CCS-THE! BIR:COS-1HE! &3 :CCS-1HE

1.0MPa IZ&Y F > 7 T FlftIE 13 UiAR
i Y —A0
e 8 | NERERRE | NEERE | ERRE | EERE | EERE | EEBRE | IEERE | ERRE
B B R & K RK 2B -l (KT, Bl ARHEE) E1. BRI EIK <l E.
a5 o R E 5~100C 180°CL:{'F_EEE7KGJ$Z-S1OO°CL){'F)
@ A RE A 0~1.0MPa
b A S JIS Rt
B E R K TR
trrz=sEAn 0.3~0.7MPa
1% B % 4 JISRcVara b
SMENR: CAC 7E1. | SCS JE1. | CAC ;E1. | SCS 1.
| = il SUS
B =,27 PTFE | FSIEH APTFE
<HELXH ELXH TELXH ~FiELXH
T 7 W (inm) (mm) (mm) (mm)
O s L= s T
10 89,000 - 135,000 = 94,600 —* 156,000 5
1 5 89,000 63>;186 135’000 63><4190 94,600 63><4257 156,000 63>;261
i 20 91,600 = 138,000 5= 98,300 —=* 160,000 =
ﬁ 25 96,000 2= 148,000 =4 99,400 = 170,000 =3°
@ _ 32 119,000 =*7 203,000 = 138,000 = 224,000
-~ g 40 131,000 =21 227,000 =22 150,000 =24 250,000 =2
@;D 50 149,000 22 280,000 o 169,000 2 306,000 oo
2@ 65 207,000 [ 039,000 oot
>L\ ;‘i1.i§ﬂ;ﬁﬂa\ FHADIBEF TERE (EL35EE. BMEARKE) I[CK> T KMEHMBEDIEEN G 2I5EHH U FITDT. THESEEN
(&=) 52 REDEET
=X E2 RS HERHBEOBETY .
Y
J)
9
é £ = ]
L

198

2023F 4R





